Supplementary figure 2: Pain Score at 48 hours

ACB FNB Std. Mean Difference Std. Mean Difference
Study or Subgroup Mean S0 Total Mean SD Total Weight IV, Fixed, 95% ClI IV, Fixed, 95% ClI
1.11.1 Pain score at rest
horys 20149 3.6 0897609 43 3.2 08371 42 6.8% 0.44 [0.01,087]
Elkassahany etal 2016 4.3 222 ) 43 T ) a.1% 0.00 [0.50, 0.50]
fahmy 2020 233 2.3 an 2 1.54 an B.6% 017 [FO.27, 0.61]
kukreja 20149 4453 237 43 4.44 2.29 41 B.9% 0.04 F0.39, 0.47]
Lietal 2016 1.9 n.ar 24 2 1.03 27 4.2% -0.10 [F0.65, 0.44]
Machietal 2015 3.871 1.59 a9 3831 21122 41 B.5% 018 [F0.26, 0.62]
Macrinici et al 2017 3.86 27 46 451 2.92 47 7.B% -0.23 064, 0.18]
Mementzoudis etal 2014 412 272 a4 3.88 2452 a4 89.7% 0.09 [0.27, 0.458] -
Mudumbaietal 2013 3 2 5131 3 3102 13.2% 0.00[F0.31, 0.31] .
Tan etal 2018 26 0.3 100 2.86 031 100 16.4% 013 F015, 0.41] N B —
thabhani etal 2017 3 T 22 3.33 4.44 23 3T% -0.08 [0.66, 0.51]
Wang 2020 26E66ET  0.77842 30 ZEGBEGEET 0.77842 a0 4.9% 0.00[Fo0.51, 0.81]
wiessman et al 2016 1.33 222 21 1.67 222 21 34% -0.15 [F0.76, 0.46]
Zhangweietal 2014 1.67 0.74a a0 1.67 0.7a a0 4.9% 0.00[Fo0.51, 0.81]
Subtotal (95% CI) 594 634 100.0% 0.06 [-0.06, 0.17] .
Heterogeneity, Chif=7.09 df=13{F=0490) F=0%
Testfor overall effect: Z=098 (F=0.33)
1.11.2 Pain score at motion.
fahmy 2020 2.33 1.54 a0 267 2.31 a0 a.7% -017 FOBT, 0.27]
Hegazy etal 2014 348 1.2 a3 3.25 na a4 11.6% 0230158, 0.61] =
Lietal 2016 28 n.aa 24 2.8 1.04 27 5.6% 0.00 [0.55, 0.549]
Lim etal 20149 3.33 222 14 3.33 222 14 33% 0.00[F0.72 072
Machietal 20145 4 2 34 3 2 4 2.5% 0.50[0.048, 0.94]
Mementzoudis etal 2014 a.51 276 a4 a.37 258 a9 12.8% 0.05 [F0.31, 0.41] -
Shahetal 2014 245841 0.3349 aa 2.E6 n.31 a0 10.5% -0.36 [[0.76, 0.04] =
Tan etal 2018 28 0.4 100 24 03 100 21.89% 0.00[0.28, 0.28] —
Wang 2020 2BBBBET  0.77842 a0 3.333333 077842 a0 B.0% -0.85[1.38,-0.32] 4
wiessman et al 2016 367 222 21 3 1.48 21 45% 0.35 [F0.26, 0.96]
Zhangweietal 2014 425 n.a a0 4 1.5 a0 B.5% 020 [F0.31, 0.71]
Subtotal (95% CI) 459 467 100.0% 0.00 [-0.13, 0.13] e
Heterogeneity: Chi*= 21.69, df=10{P=0.02); F= 54%
Testfor overall effect: £=0.01 (F=0.99)
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